( ¢@ 3550mm)

1
1-1
1-2
Do 2 (2Do  Ho)
Do 2 (2Do<Ho)  Terzaghi
2
2 2
1-1 1-2 1
1-3 N
(H) N) (@) © v) ()
12.944 2 0 13 16.000 7.000

y =16.000
y "=7.000

RC

HO0=12.944m

D0=3.550m



1-4

A
2 ) ( A
1 A) (k)
k (MN/m3) k (MN/m3)
10 20 40 80 0 2.5 5.0 10

A A

0.4 o o 0.6 o o

0.5 e} o) o o) 0.7 e} o) e} o)

0.6 o o o o 0.8 o o o o

0.7 o o 0.9 o o

™) K
A k (MN/m3) N
0.35 0.45 30 50 30 N
0.45 0.55 10 30 15 N 30
0.50 0.60 0 10 N 15
0.35 0.45 30 50 25 N
0.45 0.55 10 30 8 N 25
0.45 0.55 5 10 4 N 8
0.55 0.65 5 10 4 N 8
0.65 0.75 0 5 2 N 4
0.75 0.85 0 N 2
1
)
A =0.80
= 3 (MN/m3)

RC




2-1

h
Di | Do
AT
h
-2.11
[ C23
Do mm 3550
Di mm 3300
B mm 1000
h mm 125
Rc mm 1712.5
Dp mm 3390
a ° 14.5
Nsg 6
Wy kN/m 35.00

RC

TIAUNEE
AV RT,




2-2

Wo = 0.000KN/m?

TN,

Wo

-2.2.1

Po = 0.000 (KN/m2)

-2.2.2

RC



@

@

®)

4)

®)

3-2

3-3

3-4

Es= 33x 103 (N/mm2)

n= 15

T ca= 16(N/mm?)

T a= 0.71(N/mm2)

0 sa= 200(N/mm?)

4.6 6.8 8.8 10.9

(N/mm?) 120 210 290 380
(N/mm?) 90 150 200 270
4.6 6.8 8.8 10.9

(N/mm?) 240 480 660 940
(N/mm?) 400 600 830 1040

1.5

Ows=15x%x 15=22 (N/mmz)

RC




4-1

efoN

VA s

AN

-4.1.1

RC



4-2

(1) :Pvi
Wo = 0.000 (kN/m?)
Po = 0.000 (KN/m?2)
Psv =y Ho

=16.000x 12.944

= 207.104 (KN/m?)

Pwv= 0.000 (kN/m?)

Pvi=Wo + Po + Psv + Pwv

=0.000 + 0.000 + 207.104 + 0.000

=207.104 (kN/m?)

2) : PH1

WH =A  Wo=0.80x 0.000 = 0.000 (kN/m?)

PH =\ Po=0.80x 0.000 = 0.000 (kN/m2)

Pshi=A (Psv+y (Do/2-Rc))

= 0.80x (207.104 + 16.000x (3.550 / 2 - 1.7125) ) = 166.483 (kN/m?)

Pw1 = 0.000 (kN/m?)

PH1= WH + PH + Psh1 + Pw1

= 0.000 + 0.000 + 166.483 + 0.000 = 166.483 (kN/m2)

RC



(3) : PH2

Psha =A (Psv+y (Do/2+Rc))
=0.80x (207.104 + 16.000x (3.550 /2 +1.7125))

= 210.323 (KN/m?)

Pwz = 0.000 (KN/m?)

PH2 = WH + PH + Psh2 + Pw2

=0.000 + 0.000 + 210.323 + 0.000

= 210.323 (KN/m?)

4) Py
im wg = 35.00 N/m C23
Wy
Wg 35.00
Wg = = = 3.253 (kN/m?)
2 1T Rc 2x 11 x 1.7125

Po=m W =7rx 3.253=10.220 (kN/m?)

RC



k = 3 (MN/m?) T

(=3000 (kN/m?))

g (m)
0
5 = (2 Pvi-PH1-PH2) Rc*
24 (n Es Is+0.0454 k Rc?
n 100 (%)
Es =33 (kN/mm?) = 33x 106 (kN/m?)
Is (m4/m)
1.0 h3 1.0 x 0.1253
Is=—————— = ———— =0.000162760 (m*/m)
12 12
0
5 = (2 Pvi-PH1-PH2) Rc*

24 (n Es Is+0.0454 k Rc?)
(2x 207.104 - 166.483 - 210.323 )x 1.71254

24x (11.0x 33x 106 x 162760x 10-° + 0.0454x 3000x 1.7125%)

0.002049 (m)

q=k & =3000x 0.002049 = 6.147 (KN/m?)

RC



THEE Wo,Po

beyidll

IR

INIX,

V4P

P
=
TTTTT o q=k
3 O
-4.3

Pv1 kN/m? 207.104
PH1 kN/m2 166.483
PH2 kN/m? 210.323
Wy kN/m2 3.253
Pg kN/m2 10.220
q kN/m2 6.147
Rc m 1.7125
Is m# 162760% 10-9
k kN/m3 3000
Es kN/m2 33x 108
n % 100
C % 0
o m 2.049x 103

RC




1
4
Nvi =Pvi Rc sin20

Mvi = (1-2

sin28 ) Pvi Rc?

Qvi = - Pvi Rc sin@ cos@
-5.1.1

0
“) Mvi(kN m/m) Nv1(kN/m) Qv1(kN/m)

0 151.841 0.000 0.000
10 142.684 10.694 -60.651
20 116.317 41.488 -113.987
30 75.921 88.666 -153.575
40 26.367 146.539 -174.639
50 -26.367 208.126 -174.639
60 -75.921 265.999 -153.575
70 -116.317 313.178 -113.987
80 -142.684 343.971 -60.651
90 -151.841 354.666 0.000
100 -142.684 343.971 60.651
110 -116.317 313.178 113.987
120 -75.921 265.999 153.575
130 -26.367 208.126 174.639
140 26.367 146.539 174.639
150 75.921 88.666 153.575
160 116.317 41.488 113.987
170 142.684 10.694 60.651
180 151.841 0.000 0.000

RC

11



1
4
NH1 = PH1 Rc cos20

MH1 = (1-2 cos?®) PH1 Rc?

QH1 = PH1 Rc sin@ cos6

-5.1.2

(°e ) MH1(kN m/m) NH1(KN/m) QH1(kN/m)

0 -122.059 285.102 0.000
10 -114.698 276.505 48.755
20 -93.503 251.752 91.630
30 -61.030 213.827 123.453
40 -21.195 167.305 140.385
50 21.195 117.797 140.385
60 61.030 71.276 123.453
70 93.503 33.351 91.630
80 114.698 8.597 48.755
90 122.059 0.000 0.000
100 114.698 8.597 -48.755
110 93.503 33.351 -91.630
120 61.030 71.276 -123.453
130 21.195 117.797 -140.385
140 -21.195 167.305 -140.385
150 -61.030 213.827 -123.453
160 -93.503 251.752 -91.630
170 -114.698 276.505 -48.755
180 -122.059 285.102 0.000

RC
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1

MHO = ——
48
1

NHO = ——
16
1

HO= ——
Q 16

(6-3 cos® -12 cos?® +4 cos’0 )

(PH2 - PH1) Rc?

(cos6 +8 co0s20 -4 co0s®® ) (PH2-PH1) Rc
(sin@ +8 sin® cosB -4 sin@ cos20 ) (PH2 - PH1) Rc
P
-5.1.3

]
“) MHo(kN m/m) NHo(KN/m) QHo(kN/m)

0 -13.392 23.461 0.000
10 -12.782 23.101 4.073
20 -10.972 21.982 8.001
30 -8.035 20.026 11.562
40 -4.130 17.185 14.420
50 0.471 13.541 16.138
60 5.357 9.385 16.254
70 9.991 5.245 14.411
80 13.763 1.848 10.483
90 16.071 0.000 4.692
100 16.441 0.415 -2.356
110 14.631 3.537 -9.718
120 10.714 9.384 -16.254
130 5.110 17.478 -20.830
140 -1.451 26.871 -22.547
150 -8.035 36.281 -20.947
160 -13.650 44312 -16.128
170 -17.421 49.712 -8.766
180 -18.749 51.615 0.000

RC

13



Mg=(10.2346 - 0.3536 cos® ) g Rc?
Ng=0.3536 cos@ g Rc

Qq=0.3536 sinB g Rc

450 9 90° -5.1.4
Mg=( - 0.3487 + 0.5 sin20 +0.2357 co0s3@ ) q Rc?
Ng=(-0.7071 cosB +cos20 +0.7071 sin26 cos6 ) q Rc
Qq=(sin®@ cosB -0.7071 cos2@ sinB) q Rc
0
) Mq(kN m/m) Ng(kN/m) Qq(kN/m)
0 -2.145 3.722 0.000
10 -2.048 3.666 0.646
20 -1.761 3.498 1.273
30 -1.291 3.224 1.861
40 -0.654 2.851 2.393
50 0.132 2.373 2.827
60 1.005 1.701 2.947
70 1.843 0.934 2.565
80 2.478 0.278 1.579
90 2.727 0.000 0.000
100 2.478 0.278 -1.579
110 1.843 0.934 -2.565
120 1.005 1.701 -2.947
130 0.132 2.373 -2.827
140 -0.654 2.851 -2.393
150 -1.291 3.224 -1.861
160 -1.761 3.498 -1.273
170 -2.048 3.666 -0.646
180 -2.145 3.722 0.000

90° 6  180° Qy 0 ©6 90° Qq

RC
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()

0° 6 90°
3 5

Mg :(? m-0 sinb - 5 cos® ) Wy Rc?

Ng= ( 6 sind - % cos® ) Wy Rc

Qu=-( 6 cosb + % sin@ ) Wg Rc

0 0 O O 0
90° 6 180°
-5.1.5
5 1
Mg= (-—— m +(m -6 ) sind -5 cosO -5 W Wy Rc?
Ng = (- sin® +6 sin@ +1  sin20 -% cosB ) Wy
Qy= ((m -6 ) cosB -1 sinB cosO -% sin@ ) Wyg

]
) Mg(kN m/m) Ng(KN/m) Qug(kN/m)
0 3.289 -0.928 0.000
10 3.121 -0.746 -1.119
20 2.630 -0.207 -2.145
30 1.857 0.654 -2.990
40 0.868 1.789 -3.576
50 -0.249 3.127 -3.836
60 -1.388 4.588 -3.721
70 -2.432 6.078 -3.200
80 -3.259 7.499 -2.265
90 -3.746 8.751 -0.928
100 -3.781 9.474 0.728
110 -3.307 9.376 2.424
120 -2.359 8.538 3.857
130 -1.052 7.143 4.781
140 0.433 5.442 5.042
150 1.890 3.721 4.588
160 3.110 2.255 3.480
170 3.920 1.273 1.874
180 4.204 0.928 0.000

RC




5-2

16

M = Mvi + MH1 + MHo + Mg + Mg
N = Nv1 + NH1 + NHo + Ng + Ng

Q=Qvi+ QHi+ QHo+ Qq+ Qg

8 () M(kN m/m) N(KN/m) Q(KN/m)
0 17.534 311.357 0.000
10 16.277 313.220 -8.296
20 12.711 318.513 -15.228
30 7.422 326.397 ~19.689
40 1.256 335.669 -21.017
50 -4.818 344.964 -19.125
60 -9.917 352.949 ~14.642
70 -13.412 358.786 -8.581
80 -15.004 362.193 ~2.099
9 -14.730 363.417 3.764

100 -12.848 362.735 8.689
110 -9.647 360.376 12.498
120 -5.531 356.898 14.778
130 -0.982 352.917 15.378
140 3.500 349.008 14.356
150 7.455 345.719 11.902
160 10.513 343.305 8.436
170 12.437 341.850 4.358
180 13.092 341.367 0.000
C] )

RC



0° 80° 40°
M (1+Z ) B (kN m) 17.534 -15.004 1.256
M (1-C ) B (kN m) 17.534 -15.004
N B (KN) 311.357 362.193 335.669
Q B (kN) 0.000 -2.099 -21.017
0 (%)
1.000 (m)

RC
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(l) 17534 16277
12711
7.422
0
‘ 1256
-9.917
-13412
-15.004
-14.730
-12848
-9.647
-5.531
6 =0°
13002 12437
= 17.534 (kN m)
6 =80°
= -15.004 (kN m)
(2) 311357 313220
318513
326307
0
‘ 335.669
344.964
352,949
358.786
362193
363417
90
362735
360376
356.898
352917
180 349,008
345719
343305
341.367 341850
6 =90°
= 363.417 (kN)
R -15.228
0000 829 -19.689
(3) 21017
19125
-14.642
-8.581
-2,099
3764
8689
12,498
14.778

9 =40°
= -21.017 (kN)

RC

18



6-1

Ki f

Ki<f

li
Ai (h-u)

Ki =

Ai= B h+n (As+As")
(05 B h2+n (As d+As" d"))/A

<
1

li= B (uwW+(h-u)¥)/3+n (As (d-u)?+As

M/N

(9]
11

z = 2 2

(u-d))

RC

19



@
1) ( Ki )
Oc
o./n
| N
o hﬁ 3, { N
; e
~ O
=
-0.1.1
N M Oca: (N/mm?)
Oc= - + u O ca
Al l oc: (N/mm?2)
2) (Ki< Nz 0 )
P N
0. ;
, o./n
o LA ] ®

h/2
C
=

<
N~——

No| =

h/2

o

X
i
7 |A

(]

-.1.2

x3-3 (h/2-e) x2+(6 n/B) (As (e+C)+As" (e-C')) X -(6 n/B)
(As (e+C) (C+h/2)+As (e-C') (h/2-C"))=0

M
Oc*= o
T By /2(h/2-X /3)+(nAs/x )C (C-h/2+% )+(nAs/X )C(C+h/2-% ) ®
n oOc h
Os= (C+ -X ) O sa
X 2
n oOc h
os'= (Cc' - +X ) O sa
X 2

RC

20



(Ki< N=0

h/2
C
X
e
A
>
' >

RC

gu M iy %7%>
U‘ B oS
-.1.3
(As+As") n (As+As")
-n + ( )2+ (d As+d As")
B B
M
O ca
Bx 72 (d-x /73)+nAs" (x -d'/x ) (d-d")
d-X
n g¢ ——————— O sa
X
X -d
n Oc O sa
X
X (mm)
C (mm)
c (mm)
O sa (N/mmz)
Os (N/mm?2)
os (N/mm?)

21



1.15 Qmax

B d

Qmax

RC
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6-2

0 0 0
B (mm) 1000 1000 1000
h (mm) 125 125 125
M (kN m) 17.534 -15.004 1.256
N (kN) 311.357 362.193 335.669
Q (kN) 0.000 -2.099 -21.017
d (mm) 90 90 90
As (cm?) 6.9770 6.9770 6.9770
d* (mm) 35 35 35
As' (cm?) 6.9770 6.9770 6.9770
n 15 15 15
Aw (cm?)
aw(®)
Ss (mm)
e (mm) 56 41 4
Ai (mm2) 145931 145931 145931
u (mm) 62 62 62
li (mm4/Ring) 178625968 178625968 178625968
Ki (mm) 19 19 19
f (mm) 56 40 4
X (mm) 58 73
o ¢ (N/mm2) 11.400 OK 9.300 OK 2.700 OK
o s (N/mm?) 95.800 OK 33.400 OK
o s" (N/mm2) 69.300 OK 73.600 OK
T ¢ (N/mm2) 0.000 OK 0.027 OK 0.269 OK
Qc (kN)
Qs (kN)
o w (N/mm2)
O ca (N/mm?) 16 16 16
0 sa (N/mm2) 200 200 200
T a (N/mm2) 0.71 0.71 0.71

RC




7-1
( c23
Mra 11.0 (kN m)
Mru 26.4 (kN m)
7-2
(1) Md
O ca Md"
O sa Md"*
N/mm?2
O ca 16
O sa 200
Md" Mad"
x) (lc)
(As+As") n (As+As") 2
x = -n + ( )2 + (d As+d As")
B B B
(Oca) Md*
B -
Ma = ( . (0- —2— )en as (d-d)) o
2 3 X
(osa) Ma**
) (d-X )
Osa= N Ooca
X
B -d
Md" = ( X (d- —2— yun ar 2 (d-d')) os ;
; 3 " N (d-x )

RC

24



(As+As") (As+As") 2
X = -n ———— % ( 32+ (d As+d As")
B B B
(697.7 + 697.7)
= -15x
1000
15 x (697.7 + 697.7) 2x 15
+ ( )2 + x (90 x 697.7+35x 697.7)
1000 1000
= 34.34 (mm)
n 15
As mm? 697.7
As' mm?2 697.7
B mm 1000
d mm 90
d mm 35
B -d
Md" = ( X (d- X )+n As' S (d-d')) Oca
2 3 X
1000 x 34.34 34.34
= ( ———— x (9%-
2 3
34.34 - 35
+15%x 697.7x —  x (90-35))x 16
34.34
= 21403166 (N mm)
B -d'
Md"" = ( X (d- X )+n As' S (d-d')) osa X
2 3 X n (d-x)
1000 x 34.34 34.34 34.34 - 35
- ( ———  x (90- )+15%x 697.7x ———

2

x (90-35))x 200 x

11004083 (N mm)

Md
Md" = 21403166 (N mm)
Md = 11004083 (N mm)

34.34
34.34
15 x (90 - 34.34 )

Md"* = 11004083 (N mm)

RC



Mu

X

Nd= 08 B f'ed B x +As" Es ¢

X

cu —— - As fud

0= 0.85x 0.8x 32.3x 1000x x +697.7x 210000 x 0.0035

X

As'

fsd = 697.7 x 345.0 = 240706.5 (N)

-265522.4 < 240706.5

X =35 697.7x 245.0
X
= 23.06 (mm)
B 1000 (mm)
d 90 (mm)
d’ 35 (mm)
As 697.7 (mm2)
As' 697.7 (mm2)
Es 210000 (N/mm2)
ek 42 (N/mm2)
f'ed ffek /y c=42/7 1.3 32.3 (N/mm2)
Y ¢ 1.3
fsy 345 (N/mm2)
fsd fsy/y c=345/71.0 345.0 (N/mm?)
Y s 1.0
€ cu 0.0035
To
"= A Es € x - ( T As fw )
X
= 697.7 x 210000 x 0.0035 x 23'25 0-6 » = -265522.4 (N)

RC
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Ts

Ts= As fsa= 697.7 x 345.0 = 240706.5 (N)

Cc

C=08 B fw x B

0.85 x 0.8 x 32.3x 23.06 x 1000

506489.8 (N)

Mu

Mu

C (h/2-B /2 x )+Ts (h/2-d")+Ts (h/2-d)

506489.8 x (125/2-0.8/2x 23.06)

-265522.4 x (125/2-35) +240706.5%x (125/2-90)

13062456 (N mm)

13.1 (KN mm)

Md = 11004083 (N mm) [ = 11.0 (kN m)]

Mu = 13062456 (N mm) [ = 13.1 (kN m)]

Md = 11.0 Mra = 11.0

Mu=13.1 Mru = 26.4

RC




8-1
@
Mija
(Mja) 60
Mja" = 6.6 (KN m/Ring)
Miju" 15.8 (kN m/Ring)
(2) Mje’
N
<>
~ _ |hBsS
] | I
/ '~. v
LIt
-8.1.1
B
M - 22 Fu bk TS
I8 mm 60 | vk
An mm2 303 L)
An Ab 4<
Ab mm?2 380 4
Nsb 2 —
-8.1.2

RC
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nsb=2( )
An =303 x 2 =606 (mm?2)

hes = 80 (mm)
(x)
n An ( n An , 2 n hes An
= - —e + +
X B B ) B
15 x 606 15 x 606 , 2x 15x 80x 606
= - -+ +
1000 1000 1000
= 30 (mm)
(0 ca=16 (N/mm2) Mic
2  Mic
O ca=
B x (ho-x /3)
Mijc = 5 B x (hes-X /3) Oca
1
:T x 1000 x 30x (80-30/3)x 16
= 16800000 (N mm) = 16.800 (kN m)
Mijb
) (ho-X )
Oba= N Oca ——
X
X (ho-x 7/3)
Mijb = O ba
n (ho-x )/X
G ba(N/mm?) Mib(KN m) Mic(KN m) Mj(kN m) Mj*(KN m)
4.6 120 5.040 16.800 5.040 6.6
6.8 210 8.820 16.800 8.820 6.6
8.8 290 12.180 16.800 12.180 6.6
10.9 380 15.960 16.800 15.960 6.6

RC




8-2

a =145°
Q=N (sina -f" cosa )-Q (cosa +f sina )
fr=0.5( )
K 0 k=0° 50° Qx
( )
0 N (sina - Q (cosa +
N (kN/m) Q (kN/m) f' cosa ) f' sina ) Qk (KN/m)
0 311.357 0.000 -72.762 0.000 -72.762
10 313.220 -8.296 -73.198 -9.070 -64.128
20 318.513 -15.228 -74.435 -16.649 -57.786
30 326.397 -19.689 -76.277 -21.527 -54.750
40 335.669 -21.017 -78.444 -22.979 -55.465
50 344.964 -19.125 -80.616 -20.910 -59.706
(Qxmax)

Qkmax = -54.750 (KN/m)

Qkmax < 0

RC
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Qmax = -21.017 (kN) 6 =40

Qmax = -21.017 x 1000 = -21017 (N/Ring)

T8
Qmax 21017
'[ B = =
nsb  Ab 2 x 380
= 27.7 (N/mm2)
@) Fu)
Miju® 15800000
Fuz=——— = —— =197500 (N)
hes 80
O bu
Fu 197500
O bu= = = 325.9 (N/mm?)
nrb  An 2x 303
(K ) | ( )
T a(N/mm?) T BK(N/mm2) T B(N/mm?) o y(N/mm?) 0 bu(N/mm?)
4.6 90 27.7 240 325.9
6.8 150 271.7 480 325.9
8.8 200 27.7 660 325.9
10.9 270 271.7 940 325.9

RC
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50

cm

SRS VAEVTIU- b

2F Ly 5 Bs
4 [ } [ |
| [+ ¢ N ‘ f
S-NETryE \M 0 max
-9.1
0 max
Pj1 h/2
0 max = +Pj1 e EE— O cas
Ao I"
Ao=Bs h
I' Bs h3
12
Pj1 kN 1000
Bs mm 700
e mm 10
mm 125

Ao= Bs h=700x 125 = 87500 (mm?)

, Bs hs 700 x 1258
r=———— = = 113932292 (mm)
12 12
1000000 125/ 2
O max = —————— + 1000000 x 10 x
87500 113932292

=16.9 (N/mm?2) O cas = 22 (N/mm?2) OK

RC



